. The line /, has equation 2x + 4y -3 =0
The line /, has equation y = mx + 7, where m is a constant.
Given that /, and /, are perpendicular,

(a) find the value of m.

The lines /, and /, meet at the point P.

(b) Find the x coordinate of P.

L&) 2w tLy-3=0 D by B-

= 3: 3’/,_‘_ H o .

N

2)

2



2. Find, using algebra, all real solutions to the equation

(i) 16a2=2+a
(ii) b* + 7~ 18 = 0

) lba? = 2Ja

ct+ e —18=0
(C +9)(c — )
o > C= 'q}l-

\!
O

S bl?'-q) 2 -

bTF9, So  bi=7

A A0 0 0 A
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3. (a) Given that k is a constant, find

simplifying your answer.

€)
(b) Hence find the value of & such that
2
J. [xi} + kx) dx=28
0.5 3)

. = ,,—:’_l:M,, h__‘_b; 2
R
B
b> - S e
T —

° .
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4. Atree was planted in the ground.
Its height, A metres, was measured ¢ years after planting.

Exactly 3 years after planting, the height of the tree was 2.35 metres.
Exactly 6 years after planting, the height of the tree was 3.28 metres.
Using a linear model,
(a) find an equation linking A with 1.
©))

The height of the tree was approximately 140 cm when it was planted.

(b) Explain whether or not this fact supports the use of the linear model in part (a).
(2)
00 H &= mt + ¢

. 2.35= 2m 4 ¢
3.28= m ~c¢
9 2m - =8 (.93
D m=__0.32)
=) C= \.472.

L B) )40cen =\l

||ID R 8 21 R 1 A N ] A A
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3. Acurve has equation

24
y=3x*+—+2 x>0
X

(a) Find, in simplest form, ?
X
(3)
(b) Hence find the exact range of values of x for which the curve is increasing.
2
1 24 *
Q)  y= ot = R
- 24
d:)C— - bDC - x?
b)vdgo SR _
dx 7 = 63(—— xt 70O

1

o

A
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60°
A 3xcm B

Figure 1

Figure 1 shows a sketch of a triangle ABC with AB = 3xcm, AC = 2xcm and
angle CAB = 60°

Given that the area of triangle ABC is 18 V3 em?
(a) show that x =2 J3

3)
(b) Hence find the exact length of BC, giving your answer as a simplified surd.
3)
&)  AmaT /4 20 3x Sinc0” = 183
D g 3yt
| T2 =B
2 xtz
. ., )_;‘;:*5\] = 2J3
B Bet ez (6I) x @8)" - (2xufix 6 cose0’)

D & n e s 1 A N 1 2 A A
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7. The curve C has equation

k:
y=—+1 xelR, x#0
X

where £ 1s a constant.

(a) Sketch C stating the cquation of the horizontal asymptote.
The line / has equation y = -2x + 5

(b) Show that the x coordinate of any point of intersection of / with C'is given by a
solution of the equation

2xP—4x+k*=0

(c) Hence find the exact values of k for which / is a tangent to C.

Q) Y

- - ——- - -~ - .-»-\):\

R

14

DRQ’!R1A(\1A|A/1

3)

(2)

3)
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Question 7 continued

b) Y= -2x4§ = hl Bll

+ |

= -2x* + Sx = % 4 oc

2 de? b 4 kT =0
c) o' -Lac =0
) 6 —grT =0
:) hm_ 2
> e "'\,ri .

(Total for Question 7 is 8 marks)

O . 0O 0 O .
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8. (a) Find the first 3 terms, in ascending powers of x, of the binomial expansion of

6
e-2)
4

giving each term in its simplest form.

4
(b) Explain how you could use your expansion to estimate the value of 1.925"
You do not need to perform the calculation.
. )
0 (ax 25 = 2 ol xatx k) e x 2t n[2a)

= 64 4+  Jauodc + )3Sxt .

b) Se 4 2% Sx = 1.425 .
3 e
& oC = g- 075
= oc o — O-\
USQ oC = - O-\ 1A e expcms“?an cdooue .
16
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9. A company started mining tin in Riverdale on 1st January 2019.

A model to find the total mass of tin that will be mined by the company in Riverdale is
given by the equation

T=1200 - 3(n - 20)*
where T tonnes is the total mass of tin mined in the n years after the start of mining.

Using this model,

(a) calculate the mass of tin that will be mined up to Ist January 2020,

(1)
(b) deduce the maximum total mass of tin that could be mined,
(1)
(c) calculate the mass of tin that will be mined in 2023.
)
(d) State, giving reasons, the limitation on the values of .
2)
o) 1200 = 3(1-20)" = W7 tonnes
b) 1200 toanes |

¢) (lloo = 3(S~7_(j)") — (oo - 3(«-2¢)*)

= @ 93 —f'orme_s‘.

d) The  moadel is only  vadiol fr n& 20 e

J
H'\'CL,( oomont  wawne A connok Oleo(‘me .
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10. A circle C has equation
vyt -4yt 8y -8 = 0

(a) Find

(i) the coordinates of the centre of C,

(i) the exact radius of C.

The straight line with equ

(b) Find the possible values for £.

QD (DT -k x (g o6 -8 =0
> G-DT + Gt = 28

CQ‘\\\«Q oA ('L)—Le),

™) Readivs = Jas .

5 k= 2+ Ju

"’ R A T 0O 1

ation v = k, where & is a constant, is a tangent to €

3)

2
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f(x) = 2x* — 13x* + 8x + 48

(a) Prove that (x - 4) is a factor of f(x).

(2)
(b) Hence, using algebra, show that the equation f(x) = 0 has only two distinct roots.
4)
y 1*
v =f(x)
O -
Figure 2
Figure 2 shows a sketch of part of the curve with equation y = f(x).
(c) Deduce, giving reasons for your answer, the number of real roots of the equation
26 - 13x*+8x+46=0
(2)

Given that £ is a constant and the curve with equation y = f(x + k) passes through the origin,

(d) find the two possible values of k.
)]
Q) Ay = 2087 - (W) 8@ 4 g
|28 — 208 + 3@ + 4§
SRS

i

,F(Q) -0 =5 X -4 % o \Q\c \ue .

24
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DO NOTWRITE IN THIS AREA

20 NOT WRITE IN THIS AREA

AREA

S

DO NOTWRITE INTHI

- Question 11 continued

B) 2o’ - 3%+ 8 ~ us
= (QC'H)(?—ZI’L—SI‘-'?—\
= (:L-‘-\)(ZDC+ N(x - )

- 6

C AN

-'-l)l (ZTJC&%)‘

(2oe+2) =0 has  hao
-3

X=4 , 4.

C) 3 “Tws Qq\_)cu\-‘\cn Yy kY -2 ’

PQ“/\‘\’ o el ¥} s no '\or\\c)er a
of  nfecien.  Two  news So lons
dn o place ok Hus one .

A k=4, %

(=] [S Q 2 R 1 A n 2 [ A A

yoors

sc Hhe
S*‘c\ﬁw\o_rj ooy

are  creoked
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12. (a) Show that

10sin% 0 — 7cos6) + 2
3+ 2cosl

=4-5cost

(b) Hence, or otherwise, solve, for 0 < x < 360°, the equation

10sin® x — 7cosx + 2
3+ 2cosx

=4+ 3sinx

o) 1080’0z |0~ 10cos6.

10— 10cas*® = Tcos@ +2

e — —_—

3+ ’Zco&@

= (0cos*O — 1casSO + 12

3 4+ 2cosb

= ,(—— Scos@ + 9\@/2(;05@ 43)
/’—\\———

32 casn

- [4— — SCQ)SG .
B) Lb-bcosBC= 4 4+ 3Sihx .
> ~ Scosx = 3sax

> +anx = ;3

:> D & \2\0;50\0

P R 1] '2 [ 1 A n 9 o] A l !||| |II|
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13.

=V

Figure 3

Figure 3 shows a sketch of part of the curve with equation
y=2x—17x? + 40x

The curve has a minimum turning point at x = k.

The region R, shown shaded in Figure 3, is bounded by the curve, the x-axis and the line
with equation x = .

. 256
Show that the area of R is T

(Solutions based entirely on graphical or numerical methods are not acceptable.)

)
4= 2% = 1TIoCt 4 L4 O
> & |
e - bx* -Qqlocruay =0

D Rt - |7x 4o Pl Q)
3 ng‘ swv o —Lr) =0

2 x= 55,‘—\‘.
b=z y As fa  oMar hurring ot

)
Noas ween  coaSiderd / passed  alerady

32
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. Question 13 continued

o

Sz:ﬁ - Ve 4L 0se O

3 "
e = it - g +7.o:»c"‘3

= G
(vl

3 | 0 S®

o = 12% - = + 320
z

g 556

20.NOT WRITE IN THIS AREA

DO NOT WRITE IN THIS AREA R
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14, The value of a car, £V, can be modelled by the equation
J=15700¢ *¥ + 2300 tek, 120

where the age of the car is 1 years.
Using the model,

(a) find the initial value of the car.

(1)

Given the model predicts that the value of the car is decreasing at a rate of £500 per year
at the instant when 1 =T,

(b) (1) show that
3925 "%7= 500

(ii) Hence find the age of the car at this instant, giving your answer in years and
months to the nearest month.

(Solutions based entirely on graphical or numerical methods are not acceptable.)

(6)
The model predicts that the value of the car approaches, but does not fall below, £4.
(c) State the value of 4.
(1)
(d) State a limitation of this model.
1)
@)  F13O00
b) VAV -o-¢
& - —3925e = —S00.
' -0.725k
S 3925 = SO0
_ -0.1St SCo
ﬁ) e i = 3Q15
= <
—0.15k= [~ =
292S
_S'QC)
=) o N S - 83 Qo S Mt .

0Rn':h1an'1::|||“‘
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i Question 14 continued

Q) £2200

d) OMfaer fadoes affect Yoo volve of dhe
condiBon m?\ea\cje, o k.

(= B S o] el IS 4 A n Q T A A
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15, Given n ¢ I, prove that n" + 2 is not divisible by § @
0 even ;i
(\:2 \’l f_
3 2
(2n)° 42 7
= 8\21, + €
SRS N T
div . b)‘ not diy

g by =

N odd *

N= 2x~\ - 3
(Zh —\—\) “+ 2

- 32+ v o+ bk +3 =
D ——————— Y -
‘\3 -2 s od\C\ @v)f n oc\d) -

Se * s noX dAASiole bxs 8.

= ™ A2 no + RS b le \33 8 i

ED

i A 0 OO0 O O
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16. (i) Two non-zero vectors, a and b, are such that
latb[=|a[+|b]

Explain, geometrically, the significance of this statement.

(i) Two different vectors, m and n, are such that jm| =3 and [m—n| =6

The angle between vector m and vector n is 30°

Find the angle between vector m and vector m — n, giving your answer, in degrees,

to one decimal place.

i) & end o
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